Directions: Complete each problem below.

2 e - -
57. Find the rate of change at 3::' 58. Given f(x) = {35:( £ ;.x 511. B. leferentla’_t.e f(x) .
(1,0) for the function y = = X=3,x> RN SN U &%
{ () ,
) | A Find any x-values of f(x) where SRS M)
I G A O e it is discontinuous. C. Findany values at which f(x) is
T ,,«: / f 2-7)=7 not dlfferentwble
o T / 1 aadMa 4 N le
& ! %» T e ol
( ’ll \ yolt L7 = Z A
'.:-\' S50 - 99, 00)
Directions: Find the x-values where the funct:on is NOT differentiable. Give a reason for each value
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Directions (You may use a calculator for these problems): Complete each problem below.
63. The position, in meters, of a particle movingina | 64. A helium balloon rises so that its height is given by
straight line is given by x(¢) = 4¢* + 6t + 2.5. s(t) = t* 4+ 3t + 5, where height is in ft and time in
A. Find the veloaty functlon. seconds.
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B. Find the velocity at t-Z seconds
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C. Find the acceleration function
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E. When is the velocity of the particle 18 m/s? 65. The graph below shows the positon function of a
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66. The graph to the right shows a velocity function of 2 pardcle moving horizontally.
A. When does the particle move left?
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B. When is the particle’s acceleration positive?
(4.3
C. When is the speed the greatest?
i
D. When does the parti¢le stop for more than an instant?
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